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B1E PO BEAEH (1)

T (EEAGORATH (1))

X[ J ETERINT OB k: J — R I L TIMET
T X=X St CO-FCFHEEER ~: J — R? T, ZoOH*EH
Bk L2 BbDPTEET 3.

> F=(en): 7Nt
> &=kn, n—=—ke.

so€J B—OEELT, XRDXSIIBL .

~v(s) = /st(cosﬂ(u),siHG(u)) du, 0(s) := /8 k(u) du.
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[ ed 2-1

[l e

XM J TR k(s) BRTEZBND L X, k(s) ZHIFIZH DO
RIZE DRI X =& ozl v(s) T, fEE S &M%
729 b DD EKNFRIRE RDIZE W,

1. x(s) =a (EXO, J:R;’y(O):{

7(0) = (0, 1),
2. w(s)=1/(1+3s%), J=R; v(0) ="0,1), 4(0) ="(1,0).

Y(1/a,0) a#0
"0,00  a=0
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[ 2-1 (1b)

K(s) = a #0; v(0) = "(1/a,0); ¥(0) =*(0,1)
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[ 2-1 (2)

1
K(s) = 2

(0) ="(0,1); 4(0) = *(1,0)

A
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wE  FEioEAER (—EMH)

T (EEAGORATHE (2))

IETART X — XD bl O FmEiisR v: J — R?2 T, %
DORIRBERD k 722 H DAL L SEITRE 2RV TC—HET
»H3%.

> F=(en): 7Nt

- f’:fQ,Q:(O ‘”)
k 0
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L] d 2-2

il
BAEL k(s) = acoss + b (a, b 1ZER) ZEREKICH S, MK s
WZED T A= ZRR SN IR v,5(s) EFL.
7272 L Aap(0) = *(1,0)
1. eap(s) =Fap(s) EBLEE, eqp(s+2m) = Agpeqp(s) &
72 BESATHN Ay ZRDIZE W,
2.b=10D¢ %, ’)’a71(8 + 271') = Aa,l’}’a,l(s) + aq,1 ) g1
ZaZHWTRLEZEZW.
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[t 2-2 (1)
k(s) = acoss +b, 4(0) = *(1,0)

0(s) = [, (acosu+b)du = asins + bu
e(s) =4(s) = (cosf(s)sinf(s))

_ [cosbs —sinbs) (cos(asins)
~ \sinbs cosbs ) \ sin(asin s)
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“(1,0)

ss+1, 4(0)

3
]
@ N
3
72 =%
87 + +
~——— 3 3
@« .mn
aa\ll
0.1
—~ O ® ™o
@w » N
RN
N T
I Il I
= =
~— N—
& &
|
—~
=
N
l_l
V)
~—
Nl




b

-4

2022/10/20 11 /12




Ya,1




	閉曲線
	問題


